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WLD1 ZFHKBEE ¥ —RFEHE AV F7=—2 (D1)
WLD2 v AaERRHX A 7 (D2)
WLD3 EMEEGENE X A 7 (D3)
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HH WLD1 WLD2 WLD3
ELECEER 4 (88) 4 4 4
30kg Bl H fhn () 58.3 =+ 1.9a 61.1 = 0.7ab 65.5 *= 0.9b
100ke 2 2 H #n (B) 121.3 =+ 1.5a 132.8 = 1.3b 130.8 =+ 2.6ab
1 B R & (g) 1,101 * 12a 980 =*= 7b 1,063 = 3lab
(30kg ~100kg)
USER i + R YRR PR ERICHEB LD D (p<0.05)
#3 LR
HH WLD1 WLD2 WLD3
ELECEER 4 (88) 4 4 4
RN R (cm) 2.2 =+ 0.2 1.5 =+ 0.3 2.3 =+ 0.2
HTHEI (cm) 67.8 =+ 0.3ab 71.5 =+ 1.2a 65. + 0.5b
o2 — R WA (it 23.0 =+ 0.8 23.1 + 1.1 21.1 + 2.4
LS A i R YRR S PRGEMICHEE®ED Y (p<0.05)
F4 R
HE WLD1 WLD2 WLD3
FHAT K (58) 4 4 4
RN ENEE (%) 5.1 =+ 0.8a 1.9 =+ 0.2b 2.0 = 0.5b
Koy & (%) 72.6 £ 1.0 74.3 £ 0.4 73.7 * 0.8
& A 0 9 (ke) 1.3 =+ 0.3 1.2 =+ 0.3 1.9 =+ 0.3
NUBA=S (%) 5.2 =+ 0.8 5.5 * 0.6 4.4 =+ 0.9
7 o¥rru R (%) 30.3 =+ 0.8 30. + 0.2 31.0 =+ 0.8
UER g+ R YRR PR ERICHEB LD Y (p<0.05)
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